Oo0000ooooooooooooooooooooooooooooooooon 2011/10/21-22

Dirichlet U 0 Poisson-Dirichlet] U 0O O 0O O

Joouoodogd

O
Dirichlet O [Ferguson,1973]
DirichletOD OO0 0000000000 OO0OO0O0OO0O
Poisson-Dirichlet 0 [Kingman,1975]
DirichletUO0OOOO0OO0OOOOOOO

]
Joodoodoooooboododdododooboodoodn
Juootdogtgbtgbotdbootdbogtbtobotdbootdbogd



DirichletU U000 oooogg

n>2,a,...,an >0 OO
DirichletO O D(aq,...,an)

(a1 + -+ an) P 1 ap—1
Pyt Tdpy-dpp_1
M(ay) - (an) " "

on

n
An—].: {(plaapn) PzZO(@: 177”)7 ZPZ: 1}
1=1

(00) n=20000D(ay,ar) = Beta(aq,as)

HEN [DDDDDDDDD]{X}” 1 Hodoo

X; ~ Gamma(a;) = % +e *dzx /I (a;) on (0,00) OO0

X; "
(X1‘|‘+Xn)J-|—{ “Z } ~ D(ay,-..,an)



DirichletU U 0O 00O [Ferguson,1973]

(x,B)000000 »M0o00000000 on (X,B)
00000 vD DirichletD O (Dirichlet0 0000 00)0
000000000OMon X 00X0OO000DDO0O0OO By,...,B,000

(M(B1),...,M(Bn)) ~ D(w(B1),...,v(Bn))

00| 00MO0000O0D(v) 000 D(X,»y)0000

(00) X ={z1,...,zp}(n=¢X)0000

P153;1—|—"'—|—Pn5anD(CL15$1—|—'—|—an53;n)
JO000é6 000000000000



Dirichlet0 00O 0O O 0O O

n>1, M: 000OO0OUO0OO0O0OO on X
00 X-00000 Xq,..., X, 0 MOODUOUOOO»nO0O0O0o0oooog

(X1,...,Xn) | M) ~ M®"

00 | [Ferguson,1973]

M ~ D(v)
X{,....Xp: MOOOOOO 00000

} JOdddd
(M | (X1,...,X0)) ~D (v +0x, + - +6x,).

(0000000 0) n=10000000000000000000

piD(a1,...,an)(dpy---dpn) < D(ai,...,a;+1,...,an)(dp1 - dpn)



DirichletU U000 0odoon

(w,fYy : OO pO0D0D00O fOD00060 =v(X) >0
00 | [Cifarelli-Regazzini, 1990] O
M~D@)0D000D00000O00DOO0

E[(M, )~ =e w1090 vf >0 with [(v,log f)] < o

(00000000) 0000 f=X",t1g 0000 ty,...,tp > 00
By,...,B,0X00001g0 BOOOODOOODO0OODOOODOOOOOOO

B[t M(By) + - + taM(Ba)) 0] = 177 PD g7 (Bo)
000 %= [§dzzl te ™% /M (a) 00000dzy - dzp D000

0000 zi=z1+ - -+zn pi=z/z(1<i<n-—1) Ooao



DirichletU OO0 0O0OOOO O

f:X = (0,00)0logf: 0O000DODOXOOO0ODDOOOPX)OOOO

My P(X) = P(X), e (u, ) fdu

00000MpoMyg= M 0000
00| (OoOoo0) [H,2001] ¢=v(X)>00000
D()0000DWw) oMy :=D(w)o (M) 1000000000

d(D(v) o M)

O el 1), £)~°, D(v)-a.e.u

(0D0)0D0OD(v)OOO = [Cifarelli-Regazzini, 1990|000



Jobdbi<==uubgbod

M~DW), 6=v(X)>0, X/0MOO00DDODOOO0OODODOOO
000000000000 Vo : P(X) — [0,00),

FdM
(M, f)

E[e<”"09f><M,f>—%( >]=E[¢<M>] (QI)

000000 (pn=1)000000 Vg: X — [0,00),

E[(M, £y~ CTDg(x1)] = B [em 109 /) =109 FXD (X))
(X1/M)~MODOO0OOOOOO0OO0ODOO0DO0OO
E (M, )T (M, g)] = B [e#199(M, g/ )]
000 (QINO o(M)=(M,qg/f) ODO0DODOOODODOOOO



o<« uuogy

Juootdoogdogdbotdtott]

s roson) - (121)

00000 f—ef (£:00)000000 (d/dt)|;=o000000
0000000‘00'00¢0000

B (1) = 60, £)®OD) = B [(M, £50) = (M, )M, 5] (1P
oP d
100025 = 2| @M +tor)

(00) 000 (IP) = 0D()0PX)0DODOODOD*0OOO0OO0

‘oo uooooouooo
(XO0'000'0006e00000006 wOOOOOOOOOOO)



DirichletO U 0O ‘00000

(0000000000 D0o0oo0) PoissonDO0O00O0000O
00 | [Ferguson,1973], [Kingman,1975] 6 :=v(X) >0
{v;}oo: x-0iid., V;~0 1y

e—Z

§=292,0z: Poisson0 0000000 Ag(dz) =96
i.e., (0,00)00000000 Aq,...,A,000

. 1(0,00) (2)dz

(E(A1),...,6(Ap)) ~ Poisson(Ng(A1)) ® - - - ® Poisson(Ayg(An))
0o oodoonogdn
M:= > ééyi ~D(v) 000 Z=)> Z; ~Gamma(h)
(0O) (i) M1 z. (i) 2,26y, 0000000000000
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Poisson-Dirichletl U 0 U O O

DirichletU OO0 o0goonn

@)
Z; .
M=> ?"53@. 0000 {Z;}321 1L {Y;}2, (¢ i.i.d.)
1=1
0000 ‘simplicial part’ {Z;/Z}2,00000000000000

Y bz ~ Poisson((0, o), 02" Le?d2)

00 Zy,%,...000000000000 Zqy>Zp) > 000000
000000000 (Z(1y/%,Z(2)/2,...)000

oo
VooZ{(plpr,---)ipl ZPQZ"‘ZOaZPi:l}
i=1

OO0ddoodooded Poisson-Dirichlet D OO0 O 0O 0O O
00| PD(0)
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Poisson-Dirichlet U 0 OO O

00 | (Poisson-Dirichletd 0) [Kingman,1975], [0 O0O,1993]
n=1,2,...000

P, Pi"y ~ D@, . al)
000 ddn— ool

{al +---+ap’ —>0>0 [cf. PoissonO OO 0O0O]

max{agn), L ,a%”)} — 0

Joodoogod

(P((f)>,...,P((g)),o,o,...)mDD S PD() [0O00]

(00000) 000000000000000 [Vershik-Schmidt,1977]
0000000000000000000 [Billingsley,1972]
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Jogooooboooooboboodddd

M=) Pdy: 0000000000
i 0000
X1,...,Xp,0MO0OO0000,00000O

O000{Y;}: iid.d., V;OOOOOOOpoint massO OO0 00000
nO00000000n=n1+...+n(n; e N)OOOO

P(Xq1,...,.X,0000000000n=n1+ ---+n, 0000 |M)

_ n! ni ng

- n Z Pil “'Pik
nll---nk!H]ﬁ{jInjzl}! U1y -y UL
[=1 distinct

(00) Y; # Y;(i # ) ass.
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Poisson-Dirichlet] 0 U O [

0 0 (Residual allocation model(RAM)) 6 > 0: OO
{W;r20i.i.d., W; ~ Beta(1,0)

(Vi = Wy
: : Vo = (1 - Wp)Ws
‘“‘stick breaking’ [
P Vs = (1 —-W) (1 — Wa)Ws
L

o
(00) Y V;=1,a.s. 0000(V,Vs,...) 0000 GEMOOOODOOOO
1=1

00 | [Patil-Taillie,1977] (V(l), Vioy, - - )~ PD(0)
(0000000000000 o0) [Donnelly-Joyce,1989]
(P1,...,Pp) ~D(a,...,a)d0 000 “stick breaking” 0000000
(Wy,...,Wp)OOoooo{w;}_, 1, W; ~ Beta(a+ 1,(n —i)a).
Od0d0On —o00, na— 60 OOOO
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Poisson-Dirichletl O U O OO O

0
00d: (P,P,...)~PD(A)0DOOODODO(0,1)0O0DOOO Z(Spi []
i=1
004000 60 Poisson-Dirichlet 00O OO OO

(00) Z(SP laWZ(SZ/Z laWZ5V

00| (0o000o0oo0) (P, Ps,...)~PD(@0), g: (0,00) =C 000D
15 |g(z)—1|e—/\zz—1dz<oomm A>00000

= exp (9 /OOO %e‘”’(y(z} - 1))

r(e) Z1:[19(8P)

(00) {Z;/Z2}y:21 L Z ~ Gamma(0)
000 Y6z ~ Poisson((0,00),0z te™*dz) 000D0O0O00O0

/ dSSO 1 —ASE
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Poisson-DirichletD 0 OO OO QOO

U0: k>10000RO0ODO0OO > op 0 kO T0OO0 ¢ UODDOODOOU

k0000 ¢ 0000

(f, Qk)L2(Rk) =k

S f(Py,... B, Vi RF - [0,00)

distinct

(00) 0000 E[[[(1+te(P))] DO00D¢000000000

WattersonO OO (1976) | (P1,P>,...) ~PD(A)0DDOOO

~1 6-1
a(p1,- - 0K) = 0%(p1 - pp) 1pi+11Ak(p1,---,pk+1)
(C0) flp1,.--,px) =pit---p, 000 = EwensOO00O0O
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Poisson-Dirichlet U 00040 oOo0OOoa

00000000000 ooooo(P,Ps,...)~PD(O)DOOCO
e JODOODOO P(PL€dpy,...,Pn€dpy)00O0O [Watterson,1976]

e JODOODOODO [Griffiths,1979]
e 0 ool 000O0DDODOODO [Griffiths,1979], etc.
Oooood

2000000 PD(e,0) (0<a<1,0>—a. [Pitman-Yor,1997])
00000000000000000][H,2009]
0000PD(a,0)D000{W;}00000RAM 0O0O00CO

{Wz}q,oil AL, W, ~ Beta(l —a, 0+ Oéi)
(00) PD(0,6) = PD(6)



